Unit 1 Test Practice Name

Squares, Square Roots & Pythagorean Relationship Date
Find each square root.
1) V36 2) V16
A) V6 B) 1296 A) 2 B) 8
C) 6 D) 18 C) 256 D) 4
3) V4 ) V196
A) V2 B) 16 A) 38416 B) 14
C) 4 D) 2 C) 11 D) 98

Find each square root. Round to the nearest tenth.

5) V136 6) V42
7) V130 8) V141
Find each missing length to the nearest tenth.
9) 10)
11 8
14 9

A) 3842 B) 20.5 A) 144 B) 12

C) 316.8 D) 17.8 0 17 D) 13.2
11) 12)

& Aa

9

A) 3.5 B) 1 A) 74 B) 5

C) 16.8 D) 4.1 C) 6.5 D) 8.9
Do the following lengths form a right triangle?
13) 14)

20 21

29
A) Yes B) No
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Answers

Unit 1 Test Practice Name
Squares, Square Roots & Pythagorean Relationship Date
Find each square root.
1) V36 2) V16
A) V6 B) 1296 A) 2 B) 8
e D) 18 C) 256
3) V4 4 V196
A) V2 B) 16 A) 38416
C) 4 M) 2 C) 1 Dy 98

Find each square root. Round to the nearest tenth.

5) V136 1.7

R ETRTA

Find each missing length to the nearest tenth.

)

14

A) 384.2 B) 20.5

C) 316.8
1)

b~
g

A) 3.5 B) 1

C) 168 @) 4D

Do the following lengths form a right triangle?
13}

20 21

29

B) No

(4o wibhout o Calculator)

6) '\/E 6-5
8) V141 11.9
10)
c 8
9
A @D
C) 17 D) 13.2
12)
43
=
B) 5
C) 6.5 D) 8.9
14)

B) Yes



]5. Circle the perfect squares. Use a diagram to support your answer.

b) 63 9 121 d) 99

(o Not il Not 04
a ecte
exfect AU P
6 ! Squere 1 square
bxb=3b
M. Simplify without using a calculator.
’ a) 8= (04 b) V49 = '[
o 12=__|4% av1zi=_ ||

I The area of a square is given. Find its side length. Circle the side lengths that are
whole numbers.

a) 18 cm? b) 169 cm*- ¢) 200 cm?
4.7.cm 13 0m 4.} ¢

{3- Evaluate.

a) V8 X =_8_ b) V54 X 54 = 54 ) V153 X 153 = 153

/1. Between which two whole numbers is each square root?

79, Estimate each root in question [9to 1 decimal place.

3 b1 b _ 4.2 o) 1.4 d) “-!2
7] . Find the area of each indicated square.

?

a) b) ’

3 L
1 150 cm®
2w 250 cm?
10

22 410 =|32m" | 250-150 ={|0d¢m’ ]




7. Find the length of each side labelied with a variable.

EANERN

" p:15

3, Which of the following are right triangles? Justify your answer.

VAN b)
/ | 82 cmt >

Yl 52 em?

No =,
Sl "'51 ;%3 I em?
(no'\' 87—)

a) 10, 24,26

q 7,24,26 (NO)

15 mm?

20 mm?

(form o right rio

24. Circle the sets of numbers that are Pythagorean tnp es.
b) 12,15,20 (no)

d) 11, 60, 61

25. A ship travels for 14 km toward the south. It then changes
direction and travels for 9 km toward the east. How far does
the ship have to travel to return directly to its starting point?

Answer correct to 2 decimal places.

(l(f»b‘\' Km

%.How high up the wall does the ladder reach?

-

llm ?

2m

N 3\&)

1A

|




